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(1) Z#Ehtet(v) YTHOFEHICEY v = 10 %
(2) Bl A58 (m)
1
al1= = 1.25
. 2.0-V
1 100
m = a1l X SL = 1.25 X 24 = 30.0 N/mf
Xo>T m = 30.0 N/mf
(3) KA FEE(W/C) m = -14.3 + 25.4 X C/W
W/C = 25.4 =+ (30.0 + 14.3) X 100 = 57.0 % = [60% (_-FRMHE) ]
S W/C =57.0 %
(4) Bk B (W) BTHOFFEIZEY W = 154 ke/mi
(5)HNIE A FE(C) C =W = (W/C) X 100 = 154 = 57.0 X 100 = 270 kg/m
Cv= C + B = 270 +~ 3.02 = 89 L/mi
(6) 2558 (A = 4.5 % X 1000 = 45 L/mi
(7)) EM*FE(s/a) VTIHOEKFCLD s/a = 42.0 %
(8) il FE#ME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 712 X 42.0 % = 299 L/m
Sly = Sv X 60.0 % = 179  L/mi S1= SIvXREEE = 179 X 2.56 = 458 ke/m
S2y = Sv X 40.0 % = 120 L/m S2= SoyXFEWEE = 120 X 2.67 = 320 ke/m
(9) BAHEHM & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 587 = 413 L/m
Glv = Gv X 50.0 % = 206 L/m Gl= GlvXFEHEFE = 206 X 2.71 = 558 kg/m
G2v = Gv X 50.0 % = 207 L/m G2= G2vXRKWBBE = 207 X 2.70 = 559 kg/m’
(10) BAAZIEFIAIE (Ad) Ad = C X RINFE X BE = 270 X 0.45 % X 1.00 = 1.22 kg/m
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